



Tên: \_\_\_\_\_

Ngày tháng: \_\_\_\_\_ Điểm: \_\_\_\_\_

$$\left(\left(\frac{1}{2}\right)^2 - \frac{2}{5}\right) \times \frac{1}{2} + \left(\frac{1}{6} + \frac{1}{4}\right)^2 =$$

$$\left(\frac{1}{2} - \frac{2}{3}\right)^2 + \frac{1}{3}\left(\frac{3}{2} - \left(\frac{1}{3}\right)^2\right) =$$

$$\left(5 - \frac{1}{3}\right)^2 - \frac{2}{5} - 4^2 - \frac{1}{3} =$$

$$\left(4 + \frac{1}{2}\right)^2 + \frac{1}{3} - 5^2 + \frac{1}{2} =$$

$$\left(\frac{3}{2} - \frac{1}{4}\right)^2 - \frac{1}{6}\left(\frac{2}{5} + \left(\frac{1}{3}\right)^2\right) =$$

$$\left(\left(\frac{3}{2}\right)^2 - \frac{2}{3}\right) \times \frac{1}{3} - \left(\frac{1}{5} + \frac{1}{2}\right)^2 =$$

$$\left(\frac{3}{5} - \left(\frac{1}{5}\right)^2\right) \times \frac{1}{2} + \left(\frac{1}{6} - \frac{3}{5}\right)^2 =$$

$$\left(\frac{1}{2} - \frac{1}{2}\right)^2 - \frac{1}{3}\left(\frac{2}{5} - \left(\frac{1}{6}\right)^2\right) =$$

$$\left(\frac{1}{4} + \frac{3}{2}\right)^2 - \frac{2}{3}\left(\frac{1}{2} + \left(\frac{1}{5}\right)^2\right) =$$

$$\left(\left(\frac{3}{2}\right)^2 - \frac{1}{3}\right) \times \frac{1}{2} + \left(\frac{3}{4} - \frac{2}{5}\right)^2 =$$



Tên: \_\_\_\_\_

Ngày tháng: \_\_\_\_\_ Điểm: \_\_\_\_\_

$$\left(\left(\frac{1}{2}\right)^2 - \frac{2}{5}\right) \times \frac{1}{2} + \left(\frac{1}{6} + \frac{1}{4}\right)^2 = \frac{71}{720}$$

$$\left(\frac{1}{2} - \frac{2}{3}\right)^2 + \frac{1}{3}\left(\frac{3}{2} - \left(\frac{1}{3}\right)^2\right) = \frac{53}{108}$$

$$\left(5 - \frac{1}{3}\right)^2 - \frac{2}{5} - 4^2 - \frac{1}{3} = \frac{227}{45} = 5\frac{2}{45}$$

$$\left(4 + \frac{1}{2}\right)^2 + \frac{1}{3} - 5^2 + \frac{1}{2} = \left(-\frac{47}{12}\right) = \left(-3\frac{11}{12}\right)$$

$$\left(\frac{3}{2} - \frac{1}{4}\right)^2 - \frac{1}{6}\left(\frac{2}{5} + \left(\frac{1}{3}\right)^2\right) = \frac{3191}{2160} = 1\frac{1031}{2160}$$

$$\left(\left(\frac{3}{2}\right)^2 - \frac{2}{3}\right) \times \frac{1}{3} - \left(\frac{1}{5} + \frac{1}{2}\right)^2 = \frac{17}{450}$$

$$\left(\frac{3}{5} - \left(\frac{1}{5}\right)^2\right) \times \frac{1}{2} + \left(\frac{1}{6} - \frac{3}{5}\right)^2 = \frac{421}{900}$$

$$\left(\frac{1}{2} - \frac{1}{2}\right)^2 - \frac{1}{3}\left(\frac{2}{5} - \left(\frac{1}{6}\right)^2\right) = \left(-\frac{67}{540}\right)$$

$$\left(\frac{1}{4} + \frac{3}{2}\right)^2 - \frac{2}{3}\left(\frac{1}{2} + \left(\frac{1}{5}\right)^2\right) = \frac{1081}{400} = 2\frac{281}{400}$$

$$\left(\left(\frac{3}{2}\right)^2 - \frac{1}{3}\right) \times \frac{1}{2} + \left(\frac{3}{4} - \frac{2}{5}\right)^2 = \frac{1297}{1200} = 1\frac{97}{1200}$$